
NSN 4810-01-199-8022
Valve Subplate Assembly - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/4810-01-199-8022

General Description:

C/o plate, aluminum alloy, qq-a-250/11;  height 9.354 in. 1; bolt 3/8-24x4in. Long, steel, ff-w-86 8; washer, 3/8in., steel, ff-w-92 8; packing,

buna-n, mil-p-5516 16; back up, polytetrafluoroethylene, mil-r-8791 16; lockwire, cres, qq-w-423 ar; nameplate, aluminum alloy, qq-a-250/1

1; drive screw, steel, ff-s-107 2; insert 7/16-20, cres, ams 7245 8; quill, aluminum alloy, qq-a-225/8 8; flange-blind, cres, qq-s-763 2; sleeve,

aluminum alloy, qq-a-200/8 2; bolt 7/16-20x1 1/2 long, steel, ff-s-86 8; washer, 7/16 steel, ff-w-92 8; packing, buna n, mil-p-5516 2

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23900

https://aerobasegroup.com

